
LENGTH OF A LINE 
SEGMENT 



Learning Goal 

� Determine the length of a line segment. 
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Big Ideas 

� The distance, d, between the endpoints 
of a line segment, A(x1,y1) and B(x2,y2) 
can be calculated using the distance 
formula: 
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Big Ideas (Continued) 

� The Pythagorean theorem is used to 
develop the distance formula, by 
calculating the straight-line distance 
between two points. 

� The distance between a point and a line 
is the shortest distance between them.  
It is measured on a perpendicular line 
from the point to the line. 



Example #1 

� Find the distance between the points 
A(3,5) and B(-2,1).  Round to the 
nearest tenth. 
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Example #2 

� A triangle has vertices at A(-1,-1), 
B(2,0), and C(1,3).  Find the lengths and 
slopes of the sides of the triangle.  
What kind of triangle is it? 
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right isosceles triangle .



Consolidation 

� Know it!  What was that formula again 
(without looking)? 
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Reinforcement 

� Pages 86 – 87 
à #4abc, 5abc, 7, 10, 12a 


